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Instructions :—
The paper consists two Parts A and B. Part A is 0f 40 marks and Part B is of 35 marks. 4//
questions are compulsory :
(1) ForRegular Students Part A only.
(2) For Students of Cat. ‘B’ both Parts A and B are compulsory.
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Attempt all questions.
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Part A
(VT ')
1. State true/false. Give reasons :

(a) Motherboard is not software. 2
' P.T.O.
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(b) Binary equivalent of decimal number 43 is 110. 2
(¢) Webpage and home page are same. 2
(d) Operating system acts as a manager of various resources of a computer system. 2
(¢) Data and information is ﬁot same. 2
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(@) Describe various types of computers on the basis of size and purpose. 5

(5) What do you mean by Internet Protocol 7 Describe any fwo protocols. 5
() dA9 AR ¥ # MR W wrgel & fafv= i & gl wmifag |
(@) 39 TR RUER A 7 gugh € ? FE @ wevmedl = el wifew

Or
(3197am)
(¢) Explain the difference between System Software and Application Software. 5
(b)) “What do you mean by Net etiquette ? Explain various Net etiquette. 5

(%) 77 i wmit @R ergwEm ufwar weElt § e wre wifw
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3. (a) How is spell-check performed in MS-WORD ? 5
(b) 'What is electronic spreadsheet ? What are ifs applications ? _ 5
(%) HEE-92 ¥ =a4r 9 foe yHR & St ¥ ?
(@) ol faem of ¥ 0 oaed ¥ ? W ww swm ¥ 2

Or
(377

(@) How are Bullets and numbering inserted in a document in MS-WORD ? 5
(h) What are the steps involved in copying and pasting a formula in MS-EXCEL ? §
(F) TuE-ad § qae iR FEE s § fra weR fRRm fRy W ¥ 2
(@) M.uE-TRd ¥ g $ wafafmeo v fauem # fifes wwo =0 ¥ 2

4. (a) Explain the different types of errors in MS-EXCEL. 5
() What is the purpose of creating the master slides ? 5
(%) TLEE-TRE # Ffedt & fafos g w= Fifeg
(@) Fo TEE FrER Sy W e WS A 2

Or
(3teram)
(a) Describe any two financial functions with example. 5
(h) Explain different types of views in PowerPoint. ‘ 5

(%) fedl & foxte yerdl 9 dEEw w= wifbr |
(@) Tadlse # gqyd & fatvs weR w we s |
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PartB

(T w )
Differentiate between Absc;lute and Relative cell referencing with the help of a suitable
example. | - - 7
wwwmﬁmmﬁwmwmw%mﬁmﬁmww
HfAT |
(¢) What are logical functions ‘? Describe three logical functions. 7

(b)) The following data are entered in MS-EXCEL :

A B C D | E F G
1 | Roll No.| Marks in |Marks in  |Marks in | Total % Maximum
of Maths. Economics | Costing Marks Marks | Marks

Students | (out of 100){(out of 100)| (out of 100)

2 1001 86 78 83

3 1002 92 89 71

4 1003 73 91‘ 82

5 1004 64 S0 76
6

Write a function to display total marks of each student in cell ‘E2’, percentage marks

in cell ‘F2°, and maximum marks in cell ‘G2’ of Excel work sheet, 7
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A B C D E | F G

p | oot ® | it ol |t 3 v | @ma FuR we | % | iy

s | (1008%) | (10087 [Heiw (l00Hd| o | % 57,
2 | 1001 86 78 83
3 | w02 | 92 89 71
4 1 1003 | 73 91 82
s | 1004 | 64 90 76
6

i i & A w2 § v o S e o, Atew 12 4
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7

Or
(3reram)
What are statistical functions ? Write procedural steps of using slope and intercept
function.
From the following data, calculate the Gross Profit Ratio and Net Profit Ratio
A B C ‘

1 2009 2010

2 { Sales (%) 36,40,000 40,00,000

3 | Cost of Goods sold 32,60,000 35,50,000

4 | Net Profit (%) 2,52,000 3,00,000

5 | Gross Profit Ratio ?

6 | Net Profit Ratio ?

Calculate the Gross Profit Ratio and Net Profit Ratio for the year 2009 and 2010

in cell ‘B5’ and ‘B6’ respectively.

7
P.T.O.
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A B C
i 2009 2010
2 | &t (%) 36,40,000 40,00,000
3 | faspmma s aFE | 32,60,000 35,50,000
4 | 9g & () 2.52,000 3,00,000
5 | 996 @9 31U ?
6 | Y& Y T ?

Ffesh 'BS' 3R -B6' H FWw: a9 2009 ¥R 2010 B forw wHS T eI
i E WY oum ufewfa Wit

(a)  Write the procedural steps to find out “Frequency™ in MS-EXCEL. 7

(6) The following data are entered in MS-EXCEL -

A B C
1 Basic Pay (%) DA R) HRA (T)
2 1,000 ? N
3 950
4 1,780
5 4,000
6

All employees are paid Dearness Allowance @ 17% of Basic pay.

The employees are paid House Rent Allowance (HRA) as per the following rules ;

Basic Pay < 1500 T 3,300 is paid as HRA

Basic Pay > 1500 ¥ 5.500 is paid as HRA

You are required to write a function to display DA in cell ‘B2’ and HRA in cell C2°.7
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(F) T.TE.-TRE § ‘oafa’ T 0 & fau viEaem Sl S Seie ST |
(W) TA.TE.-TRe 8 Frafafa g wfawe feo o €

A B C
I 7 dm (3| W v () [ weE R o (%)
2 1,000 ? ?
3 950
4 1,780
5 4,000
6

ga FHARE H oA A B 17% B W W AW ww e @ ¥ o

sehafEl | TEE fEE W (HRA) Prefefea fre & srEr fean S g

H o < 1500

< 3,300

qA 99 > 1500

T 5,500

aqmaﬁaﬁﬁam‘m’ﬁwéﬁﬂs‘waﬂtﬁﬁ%mm’ﬁwmwmh
FH B A0 & ®eW @ §

Or
(3tera)
(@) What are mathematical functions ? Describe ABS and SQRT function. 7
() The following data are entered in MS-EXCEL :
A B
1 Principal Amount (%) 1,50,000
Annual Rate of Interest 12%
Number of Instalments 15

Amount of Instalment

?

Amount of Interest

?

2
3
4
5
6

You are required to write a financial function to display Amount of instaiment in cell
‘B4’, and Amount of Interest in the first year in cell "B5’. 7

P.T.O.
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(%) MU wem | w T9d ¥ 2 ABS 3R SQRT weR w1 avi Hifww |

(@) MR § frafafes ofeg wfie 52 m § .

A | B
1| goaa ufer () 1,50,000
2 | TN H oaiftfe 12%
3 | frwl =t dem 15
4 | fevdt =t iy ?
5 | = wt ufh ?
6

AU gom T8 H Hifsw B4 # frwm wt o ik wifew BS =W
F U wEHE w0 ® v w faftm w7 faem & o

4386 8 4,000




